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Test on Monda

6r2 Mod2 Topic D Quiz

Find the missing length to make 1 meter.

1. 20 cm +j )OC)N:\IOO cm
2. 35cm + E) Ezw:IOOcm
3. 63cm+ ?)1 e - 100 em

Use the centimeter ruler to answer the following questions.

Line A l 9)0(“\
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4. Line Ais l 2) cm long. 5. LineBis l :2 cm long.
6. Together, Lines A and B measure é Q cm.
7. LineBis | ‘ ) cm shor‘rer) than Line A.
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a. LineAis 2 i cm long.
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c. Together, Lines A and B measure cm. CI "' -

d. LineAis ' cm (Ionge‘rhan Line B.
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b. Line B isﬂ _cmlong.




